Subject: "Multivariate Calculus"

Name: "Mahab Waqar Khan"

ID#13093

Submitted to: Sir "Daud Khan"

Date:22/06/2020

FINAL TERM

0. Jy-n -1. /2 (y-n)/2 /2y (y2-22) (y2-x2)/2 because to our one of bonn 0= (5-2) 1 (P-B) 1)

62: f(21,y) = exsiny + excosu Laplace Equation of + ff = 0 - (a) f = exsing + excosu If = exsiny-excosu Now putting values in (a) (ensing-escosa)+ (-essing+escosa)=0 e sjuy - e egsu - en sjuy + et cosu= 0 Flence satisfied!

$$\frac{\partial^{3}\theta}{\partial x} = 3xe^{-3} + ysecu$$

$$\frac{\partial f}{\partial x} = 3xe^{-3} + ysecutanu$$

$$\frac{\partial f}{\partial y} = u^3(-1)e^{\frac{1}{2}} + Secu$$

$$= -u^3 = y + Secu$$

Proja
$$\vec{b} = (\vec{b} - \vec{a}) \vec{a}$$

=
$$(6\hat{z}+3\hat{j}+2\kappa)-(\hat{z}-2\hat{j}-2\hat{k}.(\hat{z}-2\hat{j}-2\hat{k})$$

 $(\sqrt{1^2+(-2)^2+(-2)^2})^2$

=
$$6-6-4$$
 . $(\hat{z}-2\hat{j}-2\hat{k})$ (+ 4+4)

$$=\frac{-4}{9}(\hat{i}-2\hat{j}-2\hat{k})$$

```
55

(a) f(u,y) = \kappa e^{y} + \cos(\kappa uy) at point (z,0)

The partial derivation of f at point (z,0)

(3,0) is
         2f(u,y) = ex + (-Sin(uy).y)
                  = ey = y sin (21y)
       \partial f(2,0) = e^{\circ} - Osin(2.0)
     ∂f = (n,y) = ne<sup>3</sup> + (-Sin(ny).y)

= ne<sup>3</sup> - 8 usinny
      \frac{\partial f}{\partial y} = \frac{1}{2}e^{\circ} - 2\sin(2.0)
= 2-2.0°
Therefore gradient is \nabla f(2,0) = 1\hat{i} + 2\hat{j} = (1,2) - (\hat{i})
   The directional derivative at (2,0) in
```

$$95 2/2$$

$$Dy (2,0) = \nabla f(2,0) \cdot a - (ii)$$

$$a = \frac{32-41}{\sqrt{3^2+(-4)^2}} = \frac{31-41}{\sqrt{9+16}} = \frac{31-41}{\sqrt{25}}$$

putting values in (iii)

$$(2,0)=(i+2j)(3i-4j)=3-8$$

$$=\frac{-5}{5}=-1$$
.

9:6:
$$f(x,y,3) = x^2 + y^2 + z^2 - 14$$
 and point

 $f = x^2 + y^2 + z^2 - 14$
 $\vec{n} = \nabla f(1,-2,3) = (fu,fy,fz)$
 $fu = 2\pi$ and $fu = 2(1) = 2$
 $fy = 2y$ and $fy = 2(-2) = -4$
 $f3 = 2z$ and $fz = 2(3) = 6$

So required equation of tangent

 $fx(z-z_0) + fy(y-y_0) + fz(z-z_0) = 0$
 $2(x-1) + (-4)(y-(-2)) + 6(z-3) = 0$
 $2(x-1) - 4(y+2) + 6(z-3) = 0$
 $2x - 2 - 4y - 8 + 6z - 18 = 0$
 $2x - 4y + 6z - 28 = 0$
 $2x - 4y + 6z = 28$